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Width
Upstream E-source Downstream E-source

L ܮݓ ܮଶݓ L ܮݓ ܮଶݓ
9.5 m 80 m 720 mଶ 7,220 mଷ 420 m 3,990 mଶ 37,905 mଷ

10.0 m 1030 m 10,300 mଶ 103,000 mଷ 430 m 4,300 mଶ 43,000 mଷ
11.0 m 150 m 1,650 mଶ 18,150 mଷ 180 m 1,980 mଶ 21,780 mଷ
12.0 m 630 m 7,560 mଶ 90,720 mଷ 230 m 2,760 mଶ 33,120 mଷ
12.5 m 0 mଶ 0 mଷ 630 m 7.875 mଶ 98,438 mଷ

total 1890 m 20,270 mଶ 219,090 mଷ 1890 m 20,905 mଶ 234,243 mଷ
Upstream / 

Downstream 0.970 0.935

Tunnel for upstream E-source is a little bit cheaper than that for downstream E-source,
but the difference is not so much.

Summary of tunnel cross section of EBDS tunnel
The tunnel volume for same tunnel height  is roughly proportional to wL.

The tunnel volume is roughly proportional to w2L,
when the tunnel height is increased with the tunnel width.

The tunnel cost is in between two cases.


